Task 1: L.O. To use the bus stop method to divide 4-digit numbers

Baldur needs your help to answer these questions!

1)6320 + 5 =

2) 8965 = 5 =

3)6573 + 7 =

4) 7105 5 =

5) 8859 + 3 =
6) 8687 = 7 =
7)5532 2 6 =
8) 7266 = 6 =
9) 4074 + 6 =
10) 6692 = 2 =
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Please use the answers on the next page to self-mark task 1.

Task 2: If you would like a division challenge, there is more!

To further strengthen your division skills - have a go at dividing 5 digit numbers!
In our Hurdling Hexagons folder, you will find:

‘Task 4 Challenge - 5 digits division'

Enjoy!



ANSWERS:

Task 1: L.O. To use the bus stop method to divide 4-digit numbers

WY Y Y Y Y e Y Y Y Y Y Y Y Y Y Y Y e Y Y Y Y Y Y Y Y e Y
1) 1264
2) 1793
3) 939
4) 1421
5) 2953
6) 1241
7) 922
8) 1211
9) 679

10) 3346
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